Tpenaxep 1
Dopmynvt npueedenun

[IpeoGpa3yiiTe BeIpakeHUE:

1. Sin(z—aj 9. ctg(360 —a)
2 10. cos( 90° —a)

2. 005(3_7T+aj 11. sin(270 —a)
2 12. 1g270° + @)

3. tg%r—a) 13. cos(t +3,57)

14. tg(157 — 2t)

4, ctg(ﬂ + a) 25,

5. cos(27 — ) LS. Cfg( +fj

6. sin(27 + )

8. sin(180° + a) 17. ctgx + ctg(180 — X)+ tg(90° + x)

Tpenaxep 1.

1. cosa. 2. sina . 3. ctga. 4. ctga. 5. cosa. 6. sina.7. —tga. 8. —sina. 9. —ctga .
10. sine .11. —cosa. 12, —ctga . 13. sint. 14. —1g2¢. 15. —tgt 16. —sina . 17. —ctgx .



Tpenaxep 2
Boiuucnenusa u npeobpazoeanun co cmeneHamu u KOpHAMU

[IpeoGpa3yiiTe BeIpakeHUE:

1.87.6%: 4" NZVIENITT)
42 9. 0.1
TS 5 6) I
1 10. \/16—+\/19— o
Rt 10 10 )" 4/250
6 . )
310027 %-0.3 11.3-3/49.4/49
6
325 . 665 1o . 1
4 — a5 3
18" 12 — =4
5157971570 1/3.27 3
(-2)°.5° 2 3
T ST 13. (100) " - 643 0,27 -4 2
1
1 -0,75 1 19 g
3 14. (—j +(81-10* )4 —(7—)
7. (41)2-25-(%) (872) -(647f 16 1-107) 32
8. 5
(-9)
Tpenaxkep 2.

1. 60,75.2.0,0105. 3. 0,09. 4. 4. 5. 225. 6. 2L00.7. 3i2 8. -3.9.220. 10. 135. 11.

21.12. % 13. 1. 14. 36.5.



Breraucnurte BBIPAKCHHC!

log, 16

log, 80 —1log, 2,5
84_10g8 4

10117 "oen

4log, 9+/3 + 5'oes 1!

A e

6. lo i4—10 i4—10 l
: g464 g525 g39

7. (\/ﬁ)logn25+ 610gJ€11
8. log,,; log., (23\/5)

Tpenaxep 3.
1. 4.2.5.3.1024.4.2,5.5.2
13.39.14. -2,5.

Tpenaxep 3

Butuucnenue nozapughmoes

1
1 27
9. 3788

10. log, 100-1g32
| 10%68\/7

"~ log, 49
12. log ; 24 —log, 4°

_log;2+1log, 18
log, 72 —log, 2
16/4 o o
14. log, log, "W4/8 +log,,,, ctg45° +log, cos30

4

13 23+log2 5

1.6.-7.7.126. 8. -0,2. 9. 2. 10. 10. 11. 0,0625. 12. 2.



Tpenaxkep 4
Ilokazamenvnvle ypaguenus

Pemure ypaBHeHue:

1. 371 =81 8. 100" =0,001
1 3x-8
o) 28—13x - : 1
: 9.27 5 =—
—+2
322 =82 10. 0,6> = 515
4.2 42" =72 9
5‘ 3x+1 +2.3x+2 :21 11 9x+5 :0’03-102x+11
6.3 =06-5" 12.2-6* =24 -9.4"" + 72 =0
AR A 1322 5.27 42 1 4.0% =
17 T3 14,554 =254 74.5% 4.2.5%
Tpenaxep 4.
1. 1.2.1.3.3.4.3.5.0.6.6.7.1.8.-9,5.9. 4.10.0,75. 11. 4,5.12. 0,5. 13. 0; 2;

1++/3.14.2.



Tpenaxep 5
Jozapugpmuueckue ypasnenusn

Pemure ypaBHeHue:

1. logs(3-x)=2 10. log; x—2+1log,3=0

2. log,(3x—4)=1log,(x+1) 11. 1g”(10x)-1g(100x) =1

3. log, (x* —2x +24)=5 12

4. log , (4x+1)=-1 log_,(x+ 5)4 —log. ., (x2 +8x + 15): 5
27

5. log,(3—2x)=2log, 5 13.

6. log,(5x—73)-2=1log, 3 log, (xz —6x + 22)+ logs(6x~5)=0

7. log,_, 144=2 S

8. logs x +1logs31=1og;93 —log; 4 14. logy x—3log; x+1=0

9. log,(6—x)=0

Tpenazxep 5.

1. -22.2.2,5.3.4.4.6,5.5.-11. 6. 17.7.-0,75. 8. 0,75. 9. 5. 10. 3. 11. 0,1. 12. 1.
13.3;9. 14. 27.



